oaw a"7 ' R,2n"a 7"

Two people are holding a cloak — NoHYR PIMN AN

OVERVIEW

mooIn will cite M3 that ask elsewhere why certain mnoon follow their
respective previous Xn2on. The same question applies here; why does noon
n"a follow "2 noon. Our Maon addresses this issue.'

— %21 DY) 90 NN0I NPIYNN (8,057 97 xnp x33) NN DTINNA 99INT Y9N
Since the [last] 7wn in X902 ®Mam P is discussing the division of the

sawdust between the carpenter and the owner of the wood -
— 192N Yy YW IR 297 *9rwaa) 15w 15X 590 Z18uma sanp

As the mwn there states if the cutting was done with a Txy» then the
sawdust belongs to the carpenter; however if the cutting was done with a

B3, it belongs to the owner, therefore since the last fawn in Xnp 822 is discussing
a division, that is why here in the first 71wn of n"2 -

— *:ym990 2394 523 X9 %I
The mwn here also teaches laws of division (as a continuation of the last 71wn in
P":)'

mMooIN anticipates a question:
- *MIYNY 910 PR RNIDN N7 22 HY GN)
And even though there is a rule that in two n\n>o» there is no order in the

eI -
— "Y1 RNDN NN INY (9913 7919 IINT IND NIIN)

And there is someone who maintains that the entire order of 1°p°11 is not
considered one Xnsow; therefore the reason mentioned above is not necessary® to

! See (however) footnote # 4.

A 781 is an adze (a type of plane). The wooden shavings from an adze are meager and the owner does
not mind that the carpenter should keep it.

> A 9w is an axe. The splinters from an axe are quite large and the owner wants them for his own use.

* It would seem from the syntax in the beginning of this mooIn that (Moo is not explaining why »"a
follows p"2 but rather that) N0 is explaining why does n"2 begin with P1mX 0°1w, when it should have
begun explaining the laws of 7X°x»; when one may keep it or how one is 7P a nx*¥n. Therefore MooIN
answers that this 7wn is a continuation from the last 71wn in p"2. (See “Thinking it over’ # 2.) However
many commentaries refute this interpretation and maintain that the question of m»own is why does n"2
follow "2. See footnote # 8.

SR, P2

6 See 7P 11 73"7 ®,7 1"y 0"wA that this refers (only) to the three m122a (of #"2,p"2 and 2"2). See however X"w7in
in X,22"2 on Pamwi1 7"7 '0I0 where it seems that the entire 1°7°11 770 (including M>m1 MY12W) are XNJ3oH K777
" This is the view of X177 27 in X,2p p"2.

¥ See 0" for a different explanation of MooIN question. See 7"210 7" 0" and "2,

1

TosfosInEnglish.com



oaw a"7 ' R,2n"a 7"

explain why (this mwn in) n"2 follows p"3, since there is seemingly no connection
between "2 and "2 if we assume *X¥7 RN20M XTA D P11 7913 -

mooIn responds:
— ono 75 90X NPITNN PIYY 393 331

Those words of mwn? 770 1R Xndon N2 were stated regarding the rule of

ano ''MRY NPYeIR, that if the nPWon» is in one Xnoon and the ano in another (later)
XNoon, it is (still) not considered ano 3"nRY nPYoNN -
— oy 1nbnn 058on PAY 1N NN 9705 1Y 150 KY %29 29Y

Because 29 did not learn the nynoon in the order that we have now, but

rather °27 would learn as the students requested, therefore the rule of npY?n
ano 2"nX1 does not pertain to two NN20A -
— D9aN 9101 Yy BYaNYI YaN

However when 27 joined all the n11wn together as one work [of the mwn],

he joined them together in a specific order.
— 11995 9NN N2V 1Y DYV NNIDN Y93 998

And therefore it is necessary to offer a reason by each Xn>o» why it was
taught after the previous xnoon.

mooINn proves his point that it is necessary to offer a reason for the order of the nnoon:
$(x,297 NIV 1Y 901D PP5UP MINNM NIN 2791 (397 MY NIVN Y92 PITY5

As the X713 asks in the beginning of myiaw noon; ‘let us see; the Rin just
concluded nw>» noon, etc., why does he continue with my2w ndon’. And

similarly’? we find the same question in the beginning of 788 n2on; why does
710 noon follow 11 Noo”.

? It is understood that a reason for the connection between »"2 and "2 is necessary according to the 7"
who maintains X7 no» X707 111 7213; however Moo is explaining that even according to the 7"n who
maintains X177 Xn20n» K77 XY 1°P°11 71713, nevertheless a reason is still necessary.

19 The rule is if there are two successive nN1"wn (in one Xn2on), where in the first 71wn there is a 2°XIN NP2
concerning an issue and in the later 71wn there is an anonymous ruling concerning this very issue
(supporting the view of one of the o°Xin in the first 71wn), the 7377 is like the mawn ono. The reason is
because it is assumed that the n1"1wn in one XNJon were taught in the order we have them now. Therefore
initially *27 taught the 0>71%n that there is a dispute concerning this issue, and later (in the following ono
71wn) "7 ruled according to one opinion; the 71wn ono.

" Therefore if we find a NP2 in naw noon and a ano in AW NOOR, we cannot say that since (in our
nrawn) 1y follows naw, therefore it is considered and 3"nXY npY?nn and the 71377 is the way it is taught in
1217y, for it is possible that 27 taught his 0>7%n in the opposite order; first 1217°Y and then naw. It would
then be a n12mn 2"y ano and the 73977 would not necessarily be like the ano.

2 If we assume that Xndom X771 1p°11 79 includes maw and mon (see footnote # 6) then there is no
conclusive proof from Myaw since it is a XN2on X717 with N1on, therefore mMaoin offers additional proof from
010,
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SUMMARY
The rule of mawn? 770 PX is only concerning and 3"nXY NP12M, however there
is order in the sequence of the n11wn, which needs to be explained.

THINKING IT OVER
1. The connection between two NinJon is in the content of the respective
nnoon, or in the connection between the last 71w»n and the first mwn?'

2. Why does our 71wn begin with P1mx 271w, when it could [should] have
begun with mX°¥» 17&? There would be a continuation from the last 7wn in
P"2 as well, for just as there sometimes it belongs to owner and sometimes to
the worker, the same is true by 7w mR°¥» 12X and 11277 217 198! What do
we gain by beginning with yrmx !

13 See x,3 My1w and x,3 7010.
14 See nypn mow.
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